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J00000000000000000000 a.Themain
idea of this passage is . b.The passage mainly discusses

. C.What is the passage primarily concerned about[]
d.What is the main topic of this passagel] e.Which of the following
would be the best title for the passagel] f.The best title for this
passage might be oodooodooodoo
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000000 g.The author writes this passage mainly to

h.The authors purpose in writing this passage is NERERN
(I 1.The authors attitude towards [ is .].The tone of this
passage can be described as QU000 oood
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D000 0000 @Uuouododn)aWhich ofthe
following is True L b.Which of the following is NOT True [
c.Which of the following is Not mentioned in Paragraph [ [0 [ [
[1 a.The author gives an example in Paragraph [J [1 mainly to show
that 0000000 From the passage [ it can be seen
that (1 I The main reason for [ is QU oo oo
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OO0O000000 Altisimplied in the passage that .B
The passage implies (suggests) that . C It can be inferred
from the passage that . D It can be concluded from the




passage that . E Form the passage we can infer (draw the
conclusion) that AHUoOUO oooooooooon
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g.Theword® " inline (Paragragh ) O most probably means
.h.In paragraph O O theword “ [0 refers to (stands for)
1.Theword® [O” inParagraph [0 can be best replaced
by Ododbdododoooooooon 400
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say) I e.g.ld orld in other wordsL] to put it in another way UJ [0 [J
[J [ She is bilingual.In other words[] she speaks English and French
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O 00O Itisdifficult to list all of my fathers attributes because he
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JO000000000000000 0 howeverld on the other
handO nevertheless D O D O OO0 0Oodooooooon If
you agreel] write “ yes” [ if you dissentl] write “ no” [ (dissent
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